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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6 Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

7 In case of any doubt or confusion in the question paper, the English Version will prevail.

8  Write your Question Paper Code No. 69/MAY/4, Set - on the Answer-Book.
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9 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

AT AFasT -
1 wheEdl 9T % 9ed U WX IO STehdie Jraed ford |
2 FUE UH-UF B GG A 6 G- & FA USSF AT YA B I & WA ¢ e g
U % G99 HUX VU T W 91 B g W B o o U9 wivs w9 A ¥
3 IggTs weet ® eyl R fawedt (A), (B), (C) A1 (D) ¥ ¥ B3 Uk A g4I & qor &
T FAR-gRaE ¥ oy wE I R |
4  Iggfrse gl & T a4l vel & sax Maifa e@fy & Hiax & < €1 agfrss et
% g ot @ gwg @ fean s
5 SW-gRaw ¥ weAH-fus S stgdn e Ml & Sfdie wel Wi st mAih faad X
et @ ST SEE S|
6 Tt & qlel T A Fepoiel, WEEA BF, LY, TATHN 9 fHHT | AeITD IUBI
B T T BN AT TE T
7 9 H R o YR % EoE sty giaen & Rufa ¥ sish ergae € | Em|
8 3ol SX-YRadT WX UT-UF & B 4. 69/MAY/4, Fe - [A] @
9 (%) UE-UA Hhad fEa/eeh ¥ ¥ AT Y, afy eng @ o A & 72 fRdt ua wmon H
ST T A ©
ehiepull, ARTYY, ST, TUTE!, BT, T&hd S |
FUAT I-YRawr # iy U gt ¥ o 6 oy fpw Ao § I fow @ 2

(@) afy eng &S ua ol & arfafvaa fopell o o & SR foad ¥, wel &l a9s

H BN arl el / el o el had saw! Bl
NOTE / fcsr :

(1)
(2)

\.

Answers of all questions are to be given in the Answer-Book given to you.
gt geel o IW TRl & TR SW YRkt H & fod|

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

T YH-T Wl Ued o fau 15 fie @1 g9F fedn e ¥ 9eE-us e fereon
T H 02.15 & fmar Sm@m) 02.15 st @ 02.30 & @ BT had
U5 1 UG SR g6 Il % QR O SH-QRaehl W iR S Al fere |
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each questions.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each and to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
and to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
and to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) Y% UsT & o SHep gr+ i ™ ¥
(iv) @vs & ¥ afaf ¥ ¢
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
U % foy fow o faet & ogER 39 el % SaX fae|
(v) @ 9 ¥ i@ ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A
gug — I

1  Which one of the following is the correct electronic configuration of potassium? 1

fr=ifofaa & 9§ o W &1 98 ol ie [aad § 7

(A) 2.8,1,8 (B) 22,88
(©) 2.8.8.1 (D) 2.8,8,7

2 The derived SI unit of stress is : 1
T B FA= Sl WS § -
(A) kg ms2 (B) kg m!ls2
(C) kg m?s2 (D) kg m?s3

3 Write general form of equation for the reaction of bases with non-metal 1
oxides.

(A) Base + Non-metal oxide — Salt + Water

(B) Base + Non-metal oxide — Salt + Acid

(C) Base + Non-metal oxide — FElement + Water

(D) Base + Non-metal oxide — Salt + Metal oxide

e SFAISs] HI @ 6 Y SARRAT Bl T &Y § oI ey |
(A) &R + srenfasd ofidaEe — @QU + oid

(B) &R + sruifash SliedEs — QU + o7

(C) & + srenfeads offedEs — dd + oA

(D) &R + HFuifae RS — TIU + 9y SAEs

4  Balanced forces: 1
(A) do not change the state of rest or motion of an object.
(B) can only pull an object.
(C) cannot deform an object.
(D) act in the direction of motion of an object.

gfa I —

(A) a&g & faxmmaen ar wfq & ufads 7€ sl
(B) %aw I%] H Wi GhdT ¢ |

(C) a% & BN & ga Gball ¢ |

(D) a&g @ Wfq & fasm § wd war 7
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5  Work done by a force will be maximum if on applying the force on a body 1
(A) the body remains at rest.
(B) the force displaces the body at an angle of 30° with the direction of force.
(C) the body is displaced in the direction of force.
(D) the body is displaced in a direction opposite to the force applied.

S B fan T B stfehad BT Al aig T 9 WgAd HI W -
(A) oy favmmeren # & @l B

(B) 9@, 9% &I §@ @ fEem # 30° Hor WX farenfa & 71

(C) a%g, s« @ faem ¥ forenfiq &1 Sl 21

(D) =g, ygad S« @ faada faen # foeenfua &1 S 2

6  The pancreatic juice does not contain the enzyme - 1
(A) Trypsin (B) Amylase
(C) Lipase (D) Pepsin
Sr=Terll W H e USEH Rl e —
(A) fefm (B) wEwE
(C) ww=TE (D) few
7 A green layer over old copper coin is generally due to 1

(A) reduction leading to formation of copper oxide.

(B) oxidation leading to formation of copper sulphate.

(C) oxidation leading to formation of basic copper carbonate.
(D) oxidation leading to formation of copper.

dfe & g fes X B T @ d Y e anm g e %, a8 ® -
(A) erge, fFEd HUT SfieTEe Sl |

(B) Iuoad, Rod ®iaX gehe §9dT & |

(C) Tv=ad, f5Ed Ty HU HEHe 9T & |

(D) Suaae, REd HU 91 2

8  What is earthquake? 1
(A) Heavy rainfall (B) Oceanic tide
(C) Sudden shaking of earth’s crust (D) Volcanic eruption
Iy FT 7
(A) w8 auf (B) Wi W

(C) 9 &t qUe &1 oEHa 9 ear (D) SEr@m@l &l el
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9  Which of the following are the parts of neurons? 1
(A) brain, spinal cord and vertebral column
(B) dendrite, axon and cell body
(C) sensory and motor nerve cells
(D) sympathetic and parasympathetic nervous systems

Pt & & @ =T b W 7
(A) ARTH, AGTS] ST "ods

(B) IS, THAH SR BIfyTHT-HE
(C) Gadr 3R WX e ifdrenrd
(D) g™l wd wgHHr diEe

10 Fertilisation usually takes place in a female reproductive system in N |
(A) Ovary (B) Uterus
(C) Vagina (D) Fallopian tube
e S oF # e e g § -
(A) sfeteE | (B) iy ¥
(C) At o (D) Wailuad =9 4
11 Which of the following group of animals is a primary consumer in a biotic 1
community?
(A) Carnivore (B) Scavenger
(C) Omnivore (D) Herbivore
fopel Sifges we@ o Frefdfad 9 9 Sigell & dF—91 998 UH WTafie SuHe ¢ 7
(A) wEmET (B) w#eR@Rr
(C) waferd (D) sebreT
12 The wavelength of a sodium light is 589 nm. It is the same as 1
Hifea™ yaT Al qERedar 589 nm ¥ | ¥% Frefafad & & gue -
(A) 5.89 x 10° m (B) 5.89 x 107 m
(C) 5.89 x 10° m (D) 5.89 x 10712 m
13 What will be the pH of a solution in which the concentration of hydrogen 1

ions is 1.0 x 10~ mol L1?

39 faeam & pH ar el foraed! seeee o "igar 1.0 x 107 mol L1 %7

(A) 1.0 x 107 B) -9
<€ -8 D) 9
14 What is the weight of an object of mass 20 kg? (Given g = 9.8 m s2). 1
g 20 kg @ a%] &1 WX fohawr gm? (Ram & g = 9.8 m s72)
(A) 196 kg (B) 19.6 kg
(C) 196 N (D) 1.96 N

69/MAY/4—212_A | 6 WA wmen - [ Contd...



15 Three resistors of 1Q, 2Q and 3Q are connected in parallel. The combined 1
resistance of the three resistors will be :
(A) less than 1Q (B) between 1Q and 3Q

(C) greater than 3 Q (D) equal to 2Q

1Q, 2Q 3R 3Q % aF yfaies weea & w@aifera €1 = feiaet &1 ggaa
gy grm:

(A) 1Q ¥ &9 B) 1Q 3R 3Q & 99
(C) 3Q ¥ atfum (D) 2Q & IUET
16 The image formed by a convex lens between focus and twice the focus is 1

observed to be real, inverted and diminished than the object. Where should be
the position of the object?

(A) At 2F (B) Beyond 2F

(C) Between F and optical centre (D) Between F and 2F

fordl ST@ ©F 0 BihE iR Wied A AT & i S9-T TAT Hidies aredie,
Sl SR g ¥ ®ier 9 I e @ Rafaq wel e atey ?

(A) 2F X (B) 2F & W

(C) F iR yaifdtes s & 9/ (D) F &R 2F & <@

17  Which of the following does not belong to the same homologous series? 1
frfeiad & @ &Nt & geeE 9o ¥ defud T8 e
(A) CH, (B) C,Hg
(C) C,Hg (D) C;Hg
18 Match column I statement with the correct option of column II. 2
Column 1 Column II
(a) 10 kWh (P) 3.6 x 1087
(b) 98N (Q) 98 kg wt
(R) 7461
(S) 1 kg wt
WA [ % ®aT & @W 11 & §81 faseq & gafad sl
w1 w11
(@) 10 kWh (P) 3.6 x10%]
(by 9.8 N (Q) 98 kg wt
(R) 7461
(S) 1 kg ¥
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19

20

21

Complete the following sentence by options given in the bracket : 1+1
(first, protons, atom, electrons, valence)
1 1
(a) Helium has two in its atom. These will occupy the E+E
shell.

(b) The number of

of an _ of an element.
frrefafaa amert @ ®es o fig T fase § gof aifig
(Form, WIS, TRAIY, SeaR, waw)

- . : 1.1
electrons determines the combining capacity E+E

(a) feTad & T § A K BT ¥ Rea g
(b) fordll g o %! Gl SwaT ® ToaHl ol G
fraifa ®ar 31

Write TRUE(T) for correct statement and FALSE(F) for incorrect statement :  1+1
(a) Double bond is formed when two similar atoms share two pairs of electrons
between them.
(b) The covalent compounds conduct electricity and are called good conductors
of electricity.

T ®F & T g (T) X Tad &I & fou e (F) fofaa:

(a) Us fg—omdy q9 I9a1 & §9 &1 GHH U] U S Al b &l g Bl
ST B & |

(b) weHdw difs fagd @1 @ &id & o faEa & garas wedrd < |

Read the following passage and answer the questions (1) and (2) that 1x2
follow it:

The brain, a very delicate organ is well protected within the bony cranium
(brain box). It is further protected by three meninges (that is, membranous
coverings) which continue backward over the spinal cord. These meninges are:

(1) Dura mater, the outermost tough fibrous membrane, (ii) Arachnoid, the thin
delicate middle layer giving a web-like cushion, and (iii) Pia mater, the innermost
highly vascular membrane, richly supplied with blood. The space between the
covering membranes is filled with a watery fluid known as cerebrospinal fluid
which acts like a cushion to protect the brain from shocks.

1 1
(1) Name two meninges which protect the brain. E+E
(2) The brain is encased within the . 1
(a) Cranium (b) Brainstem
(c) Nerves (d) Meninges
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I fear mar uftese ufed ofi Feafafad wewt (1) Ta (2) & TOX Qv -
AR, Th BEA ST, WU & HaT qA YbR A BT & | T8 YA A qTTenrd
(FaeeiigAT Stmarten) BT gia &iar @ <t fop 0 #etey] d% ol o | 3 difved § —
(i) SR — AT HIR Q&R el (i) SdAEe — Yael, BHT Te99 G ol
T SIAT Tl Ua dal g | (iii) ey — stidie, stfaddares el es a9
T 9 BT ¢ | SRy fAfewdl & S & 98 Ul 989 59 & 9 gl §
AR T% T Hed & | I8 AR Bl FHh! o AN b T Uk el bl a8 B Bl
gl

(1) =1 areerstl & M AT <1 Afass & GIar bl & |

(2) wRaws, % T B Bl
(a) @ (b) wRaw o
(c) dfend (d) arfeerd
22 Read the passage and give answer to questions (i) and (ii) that follow it: 1x2

For fusion of their nuclei, pollen and ovule are brought together by several
agencies like the wind, water, and insects. This transfer of pollen grain from
anther to the stigma of a flower is called pollination. Self-pollination takes
place when pollen of a flower falls on its own stigma and fertilizes the ovule.
In Cross pollination pollen from one flower falls on the stigma of another
flower of a different plant of the same species and then fertilizes the ovule of

that flower.

(i) The transfer of pollen from anther to stigma is called
(a) Diffusion (b) Adoption
(c¢) Fertilization (d) Pollination

(ii)) Name two types of pollination.
T femr mn ofede ufed ot Frafafad wedt (i) wd (i) & waX fvw:
HEhl % W 5 TIHY TAT 3 3T HHI 9 da1g, A Td HIE ERT Th <
% U AT S & | TIETHIY & et IRATeRUT 1 IO 3% Jfiehi U Ugae i e
HEd & | WU : 9 fhEl | & TIFIHY IHT B b i I Ugad § U IS
! Tofaa Xd € a1 98 WU Sia & | 9ROl o U G b RISl &
sl & g 9 & Gd & afiel T Tgad § oY 39 Bd & ovs &l ufad
H &
(i) TN & afddrl qh UETHI BT WO Bedrdl & —

(a) fomm (b) et

(c) o= (d) wTET
(ii) UIETOT & T BRI & M faRau |
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23 Match the variation in metallic character as per the change specified in 2
Column-I with the correct option of Column-II.

Column I Column II
(a) In a Period (From left to (P) decreases
right)
(b) In a Group (From top to (Q) increases
bottom) (R) remains same

(S) wvariation is uncertain

s T ¥ ofad S @ 1 fran e ¥, ¥ w1 % 9l e & gt

HINTU:
w1 w11
(a) omad ¥ (@ 9 ) (P) = T %
(b) & & (FWX & ) (Q) % i &l
(R) <@ & T&am 8l

(S) uftads erffyaa ®1

24 Write TRUE (T) for correct statement and FALSE (F) for incorrect statement: 2
(a) Metals show electropositive character whereas non-metals show
electronegative character.
(b) Sulphurous acid is called the king of chemicals.
T8 U & T g (T) o Tad wo+ & fow eraq (F) fafau:

(a) 9 faEa ovee 0 STafe stagd faga Fones T g 2|
(b) UTHIIH 3T B TETIA! BT TS BT ST & |

25 Fill in the blanks : 2

(a) Carbon cycle is the cycle by which carbon is exchanged
between , water and atmosphere (air) of the earth.

(b) Dead plants and animals return nitrogen to the soil as compounds.

e @Mt & gfd i

(a) ®ET Gk, Th b & Tas BIET B , I S gl &
arge o fafma g 1

(b) Fa Y o g, IRl &% & 9 SIS Bl GaT § 99 @R 8 |

26 Write True (T) for correct statement and FALSE (F) for incorrect statement: 2

(a) Forest fires are caused by heat generated in the litter and other biomass
in rainy season.

(b) Landslides are a major hazard in most mountains and hilly regions as
well as in steep river banks and coastlines.

T ®oe & e g (T) o TTad ®a= & foe er|e (F) fafau:

(a) a9 atfq, aul & Ha9 § g3 T o Saged ¥ I FHT b BRI A |

(b) Eaw eifaisT UsTet ofX Udd & ok dr & oY fFRY iR adrr et
@ TH I 9T |
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27

28

Read the following passage and answer questions (i) and (ii) that follow it:

If the net external force acting on a body is zero, the body at rest continues

to remain at rest and the body in motion continues to move with a uniform

velocity. This property of the body is called intertia. Inertia means ‘resistance

to change’.

(i) Name the quantity which causes the motion of a body initially at rest ?

(i1) While sitting in a moving bus, why do you experience a jerk when the
bus suddenly stops?

T fean o uftese ufed ofR ffafaa weal (i) wd (i) & IAX T

gfs fopdll a%g WX B &Y @1 FA SRA g I 7, A 9% A [GHEen ¥ 8, 98

formreRen & € WA T 8RN axg il ® 9 UmewH o1 ¥ i § & @ T

TE & 3H T Bl o BEd & | Ao B 7 & — ‘URET & qiy’ |

(i) 39 A= @1 99 faRae S et axg @ it farmmeen | Tfasid S9m § 1

(i) fordll fasiad 99 § 9 U, 59 99 3@Fe &bl & a9 N9 Th gahl °1 i
HEqH B & 7

Read the given passage and answer the questions that follow it:

Work done by a force acting on an object is equal to the magnitude of the force

multiplied by the distance moved in the direction of the force. Work has only

magnitude and no direction. If force F = 1 N and the distance moved in the

direction of the force, s = 1 m then the work done by the force will be 1 Nm.

(a) How much work is done on a 100 N stone that you carry horizontally
across a 10 m road?

(A) 1000 J (B) 10017
<) 0 (D) 10 N m!
(b) Work done in a system is the measure of -
(A) force (B) useful work
(C) displacement (D) energy change
(c) How much work is done on a 100 N stone when you lift it by 1 m?
(A) 1000 J (B) 10017
<) 0 (D) 100 kg

(d) A force of 80 N acts on a body of mass 4 kg. What is the amount of work
done if the total distance moved by the body is 2 m and is in the direction
of the force applied?

(A) 16017 (B) 401
(C) 160 N m! (D) 801J

2

1x§
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(e) In which of the following situations work is done?
(A) A person is climbing up a staircase.
(B) A satellite revolving around the earth in a circular orbit.
(C) Two teams play a tug of war and both pull with equal force.
(D) A person is standing with a heavy load on his head.

T fear e uftede ufey ok F=faRad weat & s s

forell a%g WX @ W® S & TR T &, 97 % ufeArr ofik 9 @l faem A @ @
T U % TOH % TG $| B BN had GRAT Bl § i feam T2 wn| afs g«
F=INzeiRg@ & R A dg & T g0, s = 1 m ¥, 99 §a &7 fopar = &
1 Nm &rm|

(a) 3 39w 100 N o TR &l Ueb 10 m el ¥ & IR o WU dl Tl |
fopar o Rt TR g ?

(A) 1000 J (B) 100 7]
(C) 0 (D) 10 N m™!
(b) ferdr e & fopam T ®M, AW T -
(A) 9@ & (B) Suarl &rF 6
(C) foram= & (D) it uftad=T @1
(c) fpEY 100 N TR X fopam an & fopaen e afs emg 3 1 m & Sa1s ab
IO & 7
(A) 1000 J (B) 1007
(C) 0 (D) 100 kg

(d) F=AE 4 kg 1 5t a&g X 80 N &1 9 &1 &l ¢ | A a%g R aF B
TS HA g 2 m § TR UG S« ol faem # &, O 6y T w1 /= o e ?
(A) 160 ] (B) 401]

(C) 160 N m™! (D) 8017

(e) T ¥ -4 uRRygfqal § & wrarfed gorm & 7
(A) TH =gl difeai @g e ¥
(B) @@z YAl % AN X 9 Thid Hey # oI BT @I 5|
(C) & Im Temesll ¥d @ ¥ o 3N I XE S @ @ B |
(D) uH iR o1a R X A SiEm W6 @7 B |
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30

31

32

33
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SECTION - B
gug — q

Write the names of two strong acids.
3 USd ol % A fafag |
OR / 3y
Write two differences between an electron and a neutron.

Th Feidzi| 3T T g & g q e fwfaa

How does variation take place in all the elements of a given group

regarding the (a) number of filled shells (b) number of valence electrons?
(c) what is the effect on the force of attraction between the electrons of the
outermost shell and the nucleus as one moves downwards in a group? Explain.

fou o fpdt W & w 9@l § Frefated & e ¥ aftads w9 osmm -
(a) qui aigtf &1 dear (b) WA Iadl Bl G (c) T | A1 & X 99 W
IEIAH BT b SHELH] ST AMHD & S Sy g U T THIT Sl § 7

In a lens of focal length 10 cm, the sizes of the image and object are equal.
Name the type of lens and mention the distance of object from the lens.
®iHd U 10 cm & fordl @ o, Ufdies o [T &1 oM IUE 81 o9 & Y &l
o ffan o e @ R B g8 B swE wR

OR / 3t
Define (i) visual angle and (ii) power of accommodation

GfCHTT BT : (i) 9T B0 SR (i) oA war

Name four kinds of nucleotides in a DNA molecule.

SLUA.T Y H IR GhR & J[RIaEs & W fakag)

What will happen if a copper wire is dipped in AgNO; solution? Explain
the observation giving relevant chemical reaction.
1 B A el AT & are dt AgNO; faera # gaian S ? Weror o <aredn WrEhis
AT STHIRAT ThT BT |

OR / 3@t
Nitrogen forms a series of oxides with oxygen. Write the names of any four
oxides.
AEZISH, STRIS % TTY STFaTge! B Th Iu ST | fohsl T Sfiargst & M
fafaa



34 Write the names of the hardest (i) natural substances and (ii) synthetic 2
substances.

Hoad (i) wpfasm gard o (ii) "ot uargf & wm fafaw)

35 Describe Thomson’s model of atom. Draw a diagram of helium atom 3
according to this model.
AT % LGS HiSd B (O aud ST | 39 HiSd & STIA Ifaad T &
[REREEIEEE
OR / 3@t

49
Calculate the number of electrons, protons and neutrons in 19K and 18A1r.

ngaﬂngmﬁsﬁﬂﬁﬁ,mﬁaﬁTWaﬁﬁwaﬁW|

36 An element having 13 electrons form ions which has 10 electrons. It has 3
three positive charges.
(i) How many protons are there in its ionic form?
(i) What will be its atomic number and mass number if it has 14 neutrons?
(iii) What will be the formula of its sulphate?
T dc EH 13 selagi[ €, o aan @ feH 10 seegE &1 3EH dF ed
CIEH I
(i) 9% matd &9 § fhaw Wi 7
(ii) 3HS TTHIY] TEAT R FHN Tl T B afg 3EE 14 =g ¥
(ili) 3H% T®He B G HT BRM 7

37 A constant force acting on a body of mass 4.0 kg changes its speed from 3
1.0 ms! to 2.5 m s! in 25 s. The direction of the motion of the body remains
unchanged. What is the magnitude and direction of the force?

7 4.0 kg @1 el a%] T SRR Frad S@ SEd 9@ B 25 s H 1.0m st |
2.5 m s7! aftafda &Y 31 &1 axg @ A B B fEem smfafia war g1 9 @6
afmmT iR feem R &

OR / 3t
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What is the magnitude of the gravitational force between the earth and a 5 kg
object on its surface? (Mass of the earth is 6 x 10?4 kg and radius of the earth
is 6.4 x 10° m)

JeAT 3 D! g UX W@ 5 5 kg DI fHl g % 9T TE@TBu I B G
T TR ? (Jea BT F™ 6 x 1024 kg ¥ @ gt & Browm 6.4 x 106 m %)

38 Define the terms (i) Oviparous (ii) Viviparous and (iii) Hermaphrodite. 3
Give one example of each.
e =l @1 afeam St
(i) sveyes (i) Teiausted (i) IHafd
OR / 3@t
Define the terms (i) adolescence (ii) puberty and (iii) menarche

1 et & ufeamor v
(i) femstraeen (i) FraAr (iii) wam e

39 Write three functions of spinal cord. 3
HHEUS & dIF B [@RIu|

40 Draw a labelled diagram of energy flow in different trophic levels of an 3
ecosystem.

fpaY it & faf= 9t @ & ot ware &1 e Amifha s s9Ed)

41 Classify broadly the three causes of forest fire. 3

ST BT ST % M BT forgd &9 | il it |

1 1
42 (a) When white light is refracted by a prism E+E+2+1+1=5

(i)  Which colour is deviated the most?
(i1) Which colour is deviated the least?
(iii) Draw a labelled diagram to show the colours of white light obtained
in the spectrum.
(iv) Write a natural phenomenon of dispersion of light.
(b) Write the nature of the image formed by concave lens.

(a) w9 B9 ¥ 93d WebIsT &1 Sac eiaT & —
(i) G99 ot fopg 1 &1 faaee ar & 7
(i) w8 &9 fpg 1 &1 foae 2ar & 7
(i) 99d Uy | U WergH ® TN @l 39N 2 U AMifha O a3 |
(iv) WenteT o UREau &I Teh Urehfciss divaeT fafag|
(b) oEaw wa g Mg ufafds & yefa fafeg)
OR / sty@
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(a) In your house one light bulb is fused but all the rest are working.  2+3=5§

(b) In your sister’s doll’s house one light bulb is fused and all the rest are
also not working.
In case of the above situations, decide how are the light bulbs connected
(in series or in parallel) ?

(c) Draw a labelled diagram of an electric bell.

(a) oTMU% B H YIS B Uo Sod ol ol 1 ¢ febg STl G B BT ® & |

(b) 3TTUHT T& I A & T H YHIY BT U od TSl & T § i el 99
Al B ol B w ¢ | SUIed a1 Rafoal § Ffyed i o6 gerer & s&
fpg v d@ifvtg € (3o ® ar digdseH H) ?

(c) UH fqega =1 & AMifha o= SAEA|

What is meant by (i) ionic bond and (ii) covalent bond? Compare ionic  1+1+3
and covalent compounds on the following properties : physical state, electrical
conductivity and solubility.

(i) omafie aeer ofiX (ii) TedaSl eTeer & o1 ot ¥ ? emafies iR qedrsl sy
B ga Frfartead qon 7 S — Hifde seren, [ amear iR T
OR / 3y

Write chemical formula for washing soda. How is it manufactured? 1+1+2+1
Give two uses of washing soda.

IR |ieT 1 TEETe g faiay | 3Her SaRd f6d v far Simar & ? anfai aret

% & IFAN AR |
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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6 Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

7 In case of any doubt or confusion in the question paper, the English Version will prevail.

8 Write your Question Paper Code No. 69/MAY/4, Set - on the Answer-Book.
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9 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

AT AFasT -
1 wheEdl 9T % 9ed U WX IO STehdie Jraed ford |
2 FUE UH-UF B GG A 6 G- & FA USSF AT YA B I & WA ¢ e g
U % G99 HUX VU T W 91 B g W B o o U9 wivs w9 A ¥
3 IggTs weet ® eyl R fawedt (A), (B), (C) A1 (D) ¥ ¥ B3 Uk A g4I & qor &
T FAR-gRaE ¥ oy wE I R |
4  Iggfrse gl & T a4l vel & sax Maifa e@fy & Hiax & < €1 agfrss et
% g ot @ gwg @ fean s
5 SW-gRaw ¥ weAH-fus S stgdn e Ml & Sfdie wel Wi st mAih faad X
et @ ST SEE S|
6 Tt & qlel T A Fepoiel, WEEA BF, LY, TATHN 9 fHHT | AeITD IUBI
B T T BN AT TE T
7 9 H R o YR % EoE sty giaen & Rufa ¥ sish ergae € | Em|
8 o ITX-gRAHT W UT-IF & HE 7. 69/ MAY/4, ¥ - [B] |
9 (%) UE-UA Hhad fEa/eeh ¥ ¥ AT Y, afy eng @ o A & 72 fRdt ua wmon H
ST T A ©
ehiepull, ARTYY, ST, TUTE!, BT, T&hd S |
FUAT I-YRawr # iy U gt ¥ o 6 oy fpw Ao § I fow @ 2

(@) afy eng &S ua ol & arfafvaa fopell o o & SR foad ¥, wel &l a9s

H BN arl el / el o el had saw! Bl
NOTE / fder :

(1)
(2)

\.

Answers of all questions are to be given in the Answer-Book given to you.
Ol gl o W TR &1 TRl S R § g o

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

9 YI-U ol Ugd o forg 15 e w1 wma T e § 1 weA-o T foror Siae |
02.15 st f&ar Sl 02.15 st @ 02.30 &9 d&% BB &Had
IS-T5 Sl UL 3R 39 27afY & SRE 3 SR-YRAHT N hIE SW Tl i@ |
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each questions.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each and to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
and to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
and to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) Y% UsT & o SHep gr+ i ™ ¥
(iv) @vs & ¥ afaf ¥ ¢
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
U % foy fow o faet & ogER 39 el % SaX fae|
(v) @ 9 ¥ i@ ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A
gug — A

1 A green layer over old copper coin is generally due to 1
(A) reduction leading to formation of copper oxide.
(B) oxidation leading to formation of copper sulphate.
(C) oxidation leading to formation of basic copper carbonate.
(D) oxidation leading to formation of copper.
dre % g R X B 1 @ IRd Y 9 BRoT @ B B, 9% § -
(A) ugaH, a9 HuX NedEe 99T 8|
(B) Iu=dd, fed X dhe S 8 |
(C) Suagd, fed &g s FHEHe a9t 7|
(D) SuaaH, RS S §9d1 §

2 What is earthquake? 1
(A) Heavy rainfall (B) Oceanic tide
(C) Sudden shaking of earth’s crust (D) Volcanic eruption
b T T 7
(A) w9 ouf (B) Wi W

(C) 9 &1 qUel & saHd 9 e (D) SEr@m@l & weAl

3 Which of the following are the parts of neurons? 1
(A) brain, spinal cord and vertebral column
(B) dendrite, axon and cell body
(C) sensory and motor nerve cells
(D) sympathetic and parasympathetic nervous systems
frrfafad & & &9 AT & W g ?
(A) #ARaes, H6t iR Heds
(B) S=I3¢, TR X HiRThI-H™
(C) | 3T Ites ifiremr mifdmenmd
(D) oga il od waga e o
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4  Fertilisation usually takes place in a female reproductive system in . |

(A) Ovary (B) Uterus
(C) Vagina (D) Fallopian tube
A& 9 O § e g g § -
(A) ofEeE (B) wHiE
(C) @y & (D) et e &
5  Which of the following group of animals is a primary consumer in a biotic 1
community?
(A) Carnivore (B) Scavenger
(C) Omnivore (D) Herbivore
fopdl Sifees dema # Frefafad o € Sigetl &1 -9 998 U6 WAHe STHRT § ¢
(A) wtarErl (B) HeR@R
(C) warEr (D) gmeTETH
6  The wavelength of a sodium light is 589 nm. It is the same as 1
Hifsad yaper @l qURedar 589 nm ¥ wE frefafad & & @9 ¥ -
(A) 5.89 x 10° m (B) 5.89 x 1077 m
(C) 5.89 x 109 m (D) 5.89 x 10712 m
7  What will be the pH of a solution in which the concentration of hydrogen 1

ions is 1.0 x 10~ mol L1?

34 faeras @1 pH wn erlt fraa! segem omaw |igar 1.0 x 1072 mol L1 &7

(A) 1.0 x 107 B) -9
< -8 D) 9
8  What is the weight of an object of mass 20 kg? (Given g = 9.8 m s2). 1
g 20 kg @ a%] &1 WX fhaer gm? (Rem ? g = 9.8 m s72)
(A) 196 kg (B) 19.6 kg
(C) 196 N (D) 1.96 N

9  Three resistors of 1Q, 2Q and 3Q are connected in parallel. The combined 1
resistance of the three resistors will be :
(A) less than 1Q (B) between 1Q and 3Q
(C) greater than 3 Q (D) equal to 2Q
1Q, 2Q X 3Q % OF wiaugs qremd & daifra €1 dFl gfaiget &1 9ga
gieRrg B
(A) 1Q ¥ &4 B) 1Q X 3Q & 9=
(C) 3Q ¥ st (D) 2Q % FUET
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10 The image formed by a convex lens between focus and twice the focus is 1

observed to be real, inverted and diminished than the object. Where should be
the position of the object?

(A) At 2F (B) Beyond 2F

(C) Between F and optical centre (D) Between F and 2F

fordl IT@ o g Bibd SR Wied ¥ A % S SR T Uil i,
IS X f§9 9 sier yrn mn f§e & Rufq wsf sFr wiky ?

(A) 2F X (B) 2F & W

(C) F 3R yaifdts s & 9 (D) F &R 2F & <@

11 Which of the following does not belong to the same homologous series? 1
frefefad ® | @i T € wEedE Svi ¥ deia 1@ e
(A) CH, (B) C,Hg
(C) C,Hg (D) C;Hg

12 Which one of the following is the correct electronic configuration of potassium? 1

fr=fofaa & 9§ @ Welg &1 98 ol e [aad § 7

(A) 2.8,1.8 (B) 2.2.8.8
(C) 2.8.8.1 (D) 2.8.8.7

13 The derived SI unit of stress is : 1
T§ B Fa= S| aHE T -
(A) kgms=2 (B) kg m s
(C) kg m?s2 (D) kg m?s3

14 Write general form of equation for the reaction of bases with non-metal 1
oxides.

(A) Base + Non-metal oxide — Salt + Water

(B) Base + Non-metal oxide — Salt + Acid

(C) Base + Non-metal oxide — FElement + Water

(D) Base + Non-metal oxide — Salt + Metal oxide

ruTfcaes STiordTgs! &I &K & | SATHRHAT ® qAFT &0 § GHIGBL faray |
(A) & + orenfad ofiedEE — | + I

(B) &R + sruifasw SiiddEs — |aul + a7

(C) & + erenfas offd@Es — dd + o

(D) &R + i Sfiedgs — I + €1 TS
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15 The pancreatic juice does not contain the enzyme - 1

(A) Trypsin (B) Amylase
(C) Lipase (D) Pepsin

sl @ ¥ e dSig el e —

(A) fefta (B) THTEeH
(C) ™ (D) ufte

16 Work done by a force will be maximum if on applying the force on a body 1
(A) the body remains at rest.
(B) the force displaces the body at an angle of 30° with the direction of force.
(C) the body is displaced in the direction of force.
(D) the body is displaced in a direction opposite to the force applied.

A 0 fpaT T B Sfaead BN Al % 9 99 Ygad BT UX —
(A) a%g fermmerer & € & B

(B) @, I%] & §d &I f&eM ¥ 30° Hror qx et wiar 2|

(C) o%g, 9« a faem & fawenfuq & o 2|

(D) o], vga S0 @l fauda feanm o faranfya &1 S 2

17 Balanced forces: 1
(A) do not change the state of rest or motion of an object.
(B) can only pull an object.
(C) cannot deform an object.
(D) act in the direction of motion of an object.
gied 9 —
(A) axg @ farrmaken an wfq & ufads & Harl
(B) %ha@ a%g @ @id |l ¢ |
(C) % &I BN &l & Hehal & |
(D) a&g @ Wfq & fasm § wrf war 7

18 Write TRUE (T) for correct statement and FALSE (F) for incorrect statement: 2

(a) Metals show electropositive character whereas non-metals show
electronegative character.

(b) Sulphurous acid is called the king of chemicals.

el wud & fu g (T) ofR Taa e & faw e (F) fafaa:

(a) =gy foga ovoe o1 Siafe STuTge e Fonee o7 9l S|
(b) U A Bl TEEHA! BT ST HBET Sl 2|
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19

20

21

Write True (T) for correct statement and FALSE (F) for incorrect statement:

(a) Forest fires are caused by heat generated in the litter and other biomass
in rainy season.

(b) Landslides are a major hazard in most mountains and hilly regions as
well as in steep river banks and coastlines.

T8 U & e g (T) oiX Tad ®o & fow eraq (F) fafau:

(a) a9 oIf, aul & H9 § g3 T o Sagd ¥ I HT & BRI A 5 |

(b) qEaw Sifueisr TeTs! 3R Fad &= 8fX T & el ol ofik qer st
B TH JEI AT T

Read the following passage and answer questions (i) and (ii) that follow it:

If the net external force acting on a body is zero, the body at rest continues

to remain at rest and the body in motion continues to move with a uniform

velocity. This property of the body is called intertia. Inertia means ‘resistance

to change’.

(1) Name the quantity which causes the motion of a body initially at rest ?

(i1)) While sitting in a moving bus, why do you experience a jerk when the
bus suddenly stops?

A fean m ufvese il ofi fefafad 9ol (i) we (i) & ITY afsw:

gfs fopell ag WX B #X @ FA SRA g@ I 7, A I A R ¥ ¥, 98

formraeen # 1 @ ¥ iR & axg Ml ¥ 9% THEHH AT § TG F & @ 7

TE & 3H T Bl T BEd & | T B o T — ‘uRaa & yiiy’ |

(i) 39 A= @1 99 faRae S ot axg @l it faumreeen | iasid S9m § |

(i) fepdr Tifaslied 98 9 93 §T, 99 99 S &bl ¢ a9 39 T gkl a1 Hl
Teqd B 87

Complete the following sentence by options given in the bracket :
(first, protons, atom, electrons, valence)

(a) Helium has two in its atom. These will occupy the
shell.

(b) The number of electrons determines the combining capacity
of an of an element.

Preiifge aret @ wies & R T R & o SR
(9o, WM, URAIY, A, )

(a) @ifad & qwg H & K BT ¥ R g
(b) el T A %! AT AT Bl FAFEl DI T
fraifa & 21

1+1

1 1
4=
2 2

1 1
4+
2 2
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22 Write TRUE(T) for correct statement and FALSE(F) for incorrect statement :  1+1
(a) Double bond is formed when two similar atoms share two pairs of electrons
between them.
(b) The covalent compounds conduct electricity and are called good conductors
of electricity.

T ®e & T g (T) &R Tad &9+ & fou e (F) fafaa:

(a) UH [5—€Y q9 9d1 § &9 & GHM UHY] U S sdql & &l JHl Bl
AT Y &

(b) WA A GET 1 T Bid & iR foga & gae Hedrd & |

23 Read the following passage and answer the questions (1) and (2) that 1x2
follow it:

The brain, a very delicate organ is well protected within the bony cranium
(brain box). It is further protected by three meninges (that is, membranous
coverings) which continue backward over the spinal cord. These meninges are:
(i) Dura mater, the outermost tough fibrous membrane, (ii) Arachnoid, the thin
delicate middle layer giving a web-like cushion, and (iii) Pia mater, the innermost
highly vascular membrane, richly supplied with blood. The space between the
covering membranes is filled with a watery fluid known as cerebrospinal fluid
which acts like a cushion to protect the brain from shocks.

1
(1) Name two meninges which protect the brain. E+E
(2) The brain is encased within the . 1
(a) Cranium (b) Brainstem
(c) Nerves (d) Meninges

I femn o afvese ufed o frefafaa weat (1) wd (2) & IoX AR -
AR™h, Th HA ST, WS &% HIax 7al YR gUHd idr 21 98 g dF aiied
(FAeirgeT amaReT) BRT gRfd giar & o fop 9 H%¥eg] dd ol & | F aif-ed § —
(i) SRR — JRIAY BB YRR e (i) siiwHise — Idal, Bid 9eq9 g8 ol
T STAGAT Tl UaM Bl & | (iii) TR — ofidie, sifadand el ad 9wy
T HOR Tar 21 omaRy fafeat & 9 & e U 9ey g9 ¥ Wl g © e
AR WS XA HEd & | T§ ARAD DI FH o T & [T Teb el bl A& B Bl
gl

(1) @ arfreerent & M AfTT ST wRass @ GRam Hr & |

(2) =Raws, % fid¥ g B
(a) U (b) =R a
(c) dif3rebrd (d) i
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24 Fill in the blanks : 2

(a) Carbon cycle is the cycle by which carbon is exchanged
between , water and atmosphere (air) of the earth.
(b) Dead plants and animals return nitrogen to the soilas ~ compounds.
(a) BT Eh, TH T e eEA @ SO AR g &
e # fafma g 31
(b) §q WG oiR stg, i b wu ¥ Ao & g § A e
25 Match column I statement with the correct option of column II. 2
Column 1 Column II
(a) 10 kWh (P) 3.6 x10%]
(b) 9.8 N (Q) 98 kg wt
(R) 7461
(S) 1 kg wt
W9 [ buT & wW I & TE faqeheq & gAled sl
w1 w11
(a) 10 kWh (P) 3.6 x 1087
(b) 9.8 N (Q) 98 kg wt
(R) 7461
(S) 1 kg ¥

26 Read the passage and give answer to questions (i) and (ii) that follow it: 1x2

For fusion of their nuclei, pollen and ovule are brought together by several
agencies like the wind, water, and insects. This transfer of pollen grain from
anther to the stigma of a flower is called pollination. Self-pollination takes
place when pollen of a flower falls on its own stigma and fertilizes the ovule.
In Cross pollination pollen from one flower falls on the stigma of another
flower of a different plant of the same species and then fertilizes the ovule of
that flower.

(i) The transfer of pollen from anther to stigma is called
(a) Diffusion (b) Adoption
(c¢) Fertilization (d) Pollination

(i1)) Name two types of pollination.
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27

28

T feam o ufiese ufed ofR fefafaa weoat (i) wa (i) & ST AR
Bl B T &g TR qUT 3iE 3T Bl oI a1g, A T4 i ZRT Th gaL
% U WY S & | TS § Feheent IXATeheT T god o afcienrd UX Ug e i qIrT
HEd & | WU : 9 fhEl | &b TIFTHY IHT B b dihl I Ugad § U U
! FuTed Xd € a1 98 WU S & | 9ROl o U G b GIETH STul &
aislisr & g Y & BA & el T Tgad & S 39 Bd & oS &I ufad
B B

(i) WA ¥ dfdel dh TIFHY & WAL Heddl & —

(a) faaw (b) sfirBIIT
(c) Fro=m (d) T
(ii) UETOT & & BRI & W i
Match the variation in metallic character as per the change specified in 2
Column-I with the correct option of Column-II.
Column 1 Column 11
(a) In a Period (From left to (P) decreases
right)
(b) In a Group (From top to (Q) increases
bottom) (R) remains same

(S) wvariation is uncertain
grfeqes o1 # uftee o w9 [ ¥ feaman o §, 39 w9 1 % 98 faeer o gafaa
DI

wq 1 w11
(a) omad ¥ (@ ¥ ) (P) ¥ W@ %
(b) @E ¥ (FW I ) (Q) g S &l
(R) <&r & & =
(S) uftad artfyaa 2|
Read the given passage and answer the questions that follow it: 1x5

Work done by a force acting on an object is equal to the magnitude of the force

multiplied by the distance moved in the direction of the force. Work has only

magnitude and no direction. If force F = 1 N and the distance moved in the

direction of the force, s = 1 m then the work done by the force will be 1 Nm.

(a) How much work is done on a 100 N stone that you carry horizontally
across a 10 m road?

(A) 1000 J (B) 1001
<) 0 (D) 10 N m™!
(b) Work done in a system is the measure of -
(A) force (B) useful work
(C) displacement (D) energy change
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(c) How much work is done on a 100 N stone when you lift it by 1 m?
(A) 100017 (B) 10017
<) 0 (D) 100 kg
(d) A force of 80 N acts on a body of mass 4 kg. What is the amount of work
done if the total distance moved by the body is 2 m and is in the direction
of the force applied?
(A) 160 1] (B) 401
(C) 160 N m! (D) 8017
(e) In which of the following situations work is done?
(A) A person is climbing up a staircase.
(B) A satellite revolving around the earth in a circular orbit.
(C) Two teams play a tug of war and both pull with equal force.
(D) A person is standing with a heavy load on his head.
T feun e aiese ufed ok frefafad weal & Sax <R
fondl a%g T @ W S &I foRar T B, g7 & UiCAT ofiX 9 @l faem # 7 @
TS g % IO b IUER T B BN had aRwmor grar § ofiR feam 72 gan af s@
F=INzeiRg@ & Ry A dg & T g0, s = 1 m ¥, 99 §a &7 fopar 7w &
1 Nm rm|
(a) T 3T wh 100 N % T &l T 10 m Ol TS & UK o W8 ol Je¥ T

fopam o & fepaeT BT Y
(A) 1000 J (B) 100 ]
(C) 0 (D) 10 N m™!
(b) Tt T & fpar mon &, AT ¥ -
(A) s & (B) SUar & &1
(C) faramas &1 (D) =il uftads @t
(c) Tdr 100 N ek uX femar Tam & fehaem &0 afE o9 S8 1 m & a8 dab
IO & 7
(A) 1000 J (B) 100 7]
(C) 0 (D) 100 kg

(d) F=AE 4 kg @ el a&g T 80 N & 9d &1 &l ¢ | Al a%g X O Bl
TS A U 2 m $ 3 Uge g &l faen # 8, A fohd T Bkt A R BRi 7
(A) 1607 (B) 4017
(C) 160 N m! (D) 807J

(e) 1 o aF-w ufiRufaat & @rd wrurfea gom &7
(A) Us Sl Gifeal 96 @l ol
(B) ¥amze Yol % AR SR § b Hel # goiF BT W@ F|
(C) 3 3M sl Wd T § o 3! 3 JUaX g @ @ g
(D) s =R o faR o ATl s At e B
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SECTION - B
g — q

29 What will happen if a copper wire is dipped in AgNO; solution? Explain 2

the observation giving relevant chemical reaction.
1 B AT fRE AT & A @l AgNO; faera # gaian S ? Yaror &) e WiEis
AT SATHIRAT ThT BT |

OR / 3@t

Nitrogen forms a series of oxides with oxygen. Write the names of any four
oxides.

AL, AT & T ATFAISS! Bl Uh U SA1aT & | fhel A SiedTge! & A
fafaui

30 Write two main characteristics of noble gases. 2

SHE @l % A e U farau|

31 Write the names of two strong acids. 2
a yad ol & A feiey |
OR / 3t

Write two differences between an electron and a neutron.

T e o T g % @ et

32  Who proposed law of inheritance? On which plants did he experiment for 2

seven years?

ST TehaT @1 1w fopem wanfaa fepam ? d1d aut de I8 fopd drer 9 AT oy ?

33 In a lens of focal length 10 cm, the sizes of the image and object are equal. 2

Name the type of lens and mention the distance of object from the lens.

wiHd T 10 cm & fFE oE #, idieT iR &9 &1 ohR S & 1 @9 & T &
o Ry oiX o & Rig B 78 B IwrE BRI

OR / 3@t
Define (i) visual angle and (ii) power of accommodation

TRHTST BT ¢ (i) T9T BT SR (i) FHS &
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34 Write the names and molecular formulae of the alkenes : 2
(a) With two carbon atoms
(b) With five carbon atoms
Fret TR 3 T TH e g e
(a) N wEA TTEST B YehA
(b) T HIEA YTATSA Bl Uh

35 Define the terms (i) Oviparous (ii) Viviparous and (iii) Hermaphrodite. 3
Give one example of each.
=1 wet @7 afeam iR
(i) srvsysia (ii) Hetayeid (iii) SHafer
OR / 3@t
Define the terms (i) adolescence (ii) puberty and (iii) menarche
e =l @1 afeam St
(i) fopstrarerean (ii) P (iii) ve RsH

36 What is the cause of periodicity as reflected in periodic table of elements? 3

[llustrate the properties of elements with the help of an example.

del % TN § STl B HT BRI & ST {6 qel dl ofed areen # gorar W § 7
del % UEH Th I T WE HIT

37 A hammer of mass 500 g, moving at 60 m s71, strikes a nail, The nail 3

stops the hammer in a very short time of 0.01 s. What is the force of the nail
on the hammer?

g 500 g B T &4 60 m s~! & T ¥ T BT W A BT & | DA s
%l 9gd &1 od §9g 0.01 s 7 T 3T 21 TS UX HIA 1 I [eha T & 7

OR / 3@t
What is the magnitude of the gravitational force between the earth and a

2 kg object on its surface? (Mass of the earth is 6 x 1024 kg and radius of the
earth is 6.4 x 10° m).

g 3R SHa! dag U @l 2 kg &1 fopdl a&g & 19 oy vr I T Gf AT 7 & 7
(T T Fem 6 x 1024 kg o ey &1 B3 6.4 x 100 m %)
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38 Describe Thomson’s model of atom. Draw a diagram of helium atom 3
according to this model.
TTHAIY] % TGS Hisd B [aRgd auid BT | 39 Hisd & STIE fad T &
[EERERIER]
OR / 3yt

49
Calculate the number of electrons, protons and neutrons in 9K and 18Ar.

49 40 . o o .
19K IEd 18Ar H ZAdHEl, WMl R =l Bl T 3 B |

39 Name the lowest portion of the brain. Where is it located? What is its 3

function?

ARash & 999 e 9rr &1 W fRau| g8 wet raiad & 7 39w T B § 7

40 Write three characteristics of hydrophytes. 3
SRRl % M o farag

41 What causes acid rain? Explain how life in land and water is affected 3
by this.

AT YT BT T BT & 7 GHIEY foh €Xal X X Wi § 3Gch hILul Siled
&Y I Biar B 7

42 What is meant by (i) ionic bond and (ii) covalent bond? Compare ionic  1+1+3

and covalent compounds on the following properties : physical state, electrical
conductivity and solubility.

(i) emafe amaer ofT (ii) Teddiel STEe &l & o7 & ? ardfeh oY Geddiel sTaen
@ gaar Freefaiaa o § sRe - Hifae e, R e ok faeadn
OR / 3y

Write chemical formula for washing soda. How is it manufactured? 1+1+2+1
Give two uses of washing soda.

IR |1 1 TEETe g faiay | 3Her sakd g yer far Simar & 7 anfai ater
% 3 SUERT QS|
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1 1
43 (a) When white light is refracted by a prism E+E+2+1+1=5

(i)  Which colour is deviated the most?
(i1)) Which colour is deviated the least?

(iii) Draw a labelled diagram to show the colours of white light obtained
in the spectrum.

(iv) Write a natural phenomenon of dispersion of light.
(b) Write the nature of the image formed by concave lens.
(a) 9 o9 ¥ 93T UHIST BT SUAAT BIAT ® —
(i) o=@ sifies fbe 1 @1 e grar @ 7
(i) w98 & fo" {1 @1 fereer g €7
(ili) 99d Tt | T WagH o TN &l 39N 2 U AMifha o a9 |
(iv) WeTsT o UfREaUl %I T Uihfcs divaen fafag|
(b) o wE & WA ufdfds @ vl fafew)
OR / 3@t
(a) In your house one light bulb is fused but all the rest are working.  2+3=5§

(b) In your sister’s doll’s house one light bulb is fused and all the rest are
also not working.

In case of the above situations, decide how are the light bulbs connected
(in series or in parallel) ?

(c) Draw a labelled diagram of an electric bell.

(a) o9k °X H UHIYT BT Uk Sod TS & AT & febg STb! §E HM B ® B

(b) STTDH T&T Bl FEAT &F T H BN BN Uk Iod TSl &1 AT ¢ ST el |
f B T X w T SuTE Il Rafaat o ffyaa Hifsg 6 g & s
fore g eifea § (SO § a1 ungdeRd #) ?

() T R w1 Titha faT S
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This Question Paper consists of 43 questions and 16 printed pages.
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General Instructions :
1 Candidate must write his/her Roll Number on the first page of the Question Paper.

2 Please check the Question Paper to verify that the total pages and the total number of
questions contained in the Question Paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3 For the objective type of questions, you have to choose any one of the four alternatives
given in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the
Answer-Book given to you.

4 All the questions including objective type questions are to be answered within the allotted
time and no separate time limit is fixed for answering objective-type questions.

5 Making any identification mark in the Answer-Book or writing Roll Number anywhere
other than the specified places will lead to disqualification of the candidate.

6 Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or
any such electronic devices in the Examination Hall.

7 In case of any doubt or confusion in the question paper, the English Version will prevail.

8 Write your Question Paper Code No. 69/MAY/4, Set - on the Answer-Book.
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9 (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box
provided in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours
only.

AT AFasT -
1 wheEdl 9T % 9ed U WX IO STehdie Jraed ford |
2 FUE UH-UF B GG A 6 G- & FA USSF AT YA B I & WA ¢ e g
U % G99 HUX VU T W 91 B g W B o o U9 wivs w9 A ¥
3 IggTs weet ® eyl R fawedt (A), (B), (C) A1 (D) ¥ ¥ B3 Uk A g4I & qor &
T FAR-gRaE ¥ oy wE I R |
4  Iggfrse gl & T a4l vel & sax Maifa e@fy & Hiax & < €1 agfrss et
% g ot @ gwg @ fean s
5 SW-gRaw ¥ weAH-fus S stgdn e Ml & Sfdie wel Wi st mAih faad X
et @ ST SEE S|
6 Tt & qlel T A Fepoiel, WEEA BF, LY, TATHN 9 fHHT | AeITD IUBI
B T T BN AT TE T
7 9 H R o YR % EoE sty giaen & Rufa ¥ sish ergae € | Em|
8 T ITR-YRAdT T YT & B 7. 69/MAY/4, ¥ - [C| fae
9 (%) UE-UA Hhad fEa/eeh ¥ ¥ AT Y, afy eng @ o A & 72 fRdt ua wmon H
ST T A ©
ehiepull, ARTYY, ST, TUTE!, BT, T&hd S |
FUAT I-YRawr # iy U gt ¥ o 6 oy fpw Ao § I fow @ 2

(@) afy eng &S ua ol & arfafvaa fopell o o & SR foad ¥, wel &l a9s

H BN arl el / el o el had saw! Bl
NOTE / fder :

(1)
(2)

\.

Answers of all questions are to be given in the Answer-Book given to you.
Ol gl o W TR &1 TRl S R § g o

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the
students will read the question paper only and will not write any answer on the
answer-book during this period.

9 YI-U ol Ugd o forg 15 e w1 wma T e § 1 weA-o T foror Siae |
02.15 st f&ar Sl 02.15 st @ 02.30 &9 d&% BB &Had
IS-T5 Sl UL 3R 39 27afY & SRE 3 SR-YRAHT N hIE SW Tl i@ |
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SCIENCE AND TECHNOLOGY

(et wd i)
212)

Time : 2% Hours] [Maximum Marks : 85
. 1 C .
q9g 24 L] [quric : 85

Note : (1) This question paper consists of 43 questions in all.

(i1)) All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section A consists of -

(a) Q. No. 1 to 17 - Multiple Choice type questions (MCQs) carrying 1 mark
each. Select and write the most appropriate option out of the four options
given in each of these questions.

(b) Q. No. 18 to 28 - Objective type questions. Q. No. 18 to 27 carry
02 marks each (with 2 sub-parts of 1 mark each) and Q. No. 28 carries
5 marks (with § sub-parts of 1 mark each). Attempt these questions
as per the instructions given for each questions.

(v) Section B consists of -

(a) Q. No. 29 to 34 - Very Short Answer type questions carrying 2 marks
each and to be answered in the range of 30 to 50 words.

(b) Q. No. 35 to 41 - Short Answer type questions carrying 3 marks each
and to be answered in the range of 50 to 80 words.

(¢) Q. No. 42 and 43 - Long Answer type questions carrying 5 marks each
and to be answered in the range of 80 to 120 words.

e (i) 39 999 H Ppa 43 s g
(i) |f 9o orfard ¥
(iii) Y% UsT & o SHep gr+ i ™ ¥
(iv) @vs & ¥ afaf ¥ ¢
(a) 9T "@&m 1 ¥ 17 9% Sg[aohedd UhR & 99T & 3 Udd 1 ok
HEITTH Y UDE U ¥ ¥ W AR faeed § 9 999 Iuge fadbed @
99 B fE |
(b) ST WEAT 18 ¥ 28 T% IARIFTS YHR & YT | YT we&m 18 ¥ 27
qHb Idh U9 2 3 & & (Y¥d 1 3 & 2 IT-| & qiy) oix
qT-ger 28, 5 3ihl w1 T (YAH 1 3k & 5 SU-UTN & 1Y) | TAh
U % foy fow o faet & ogER 39 el % SaX fae|
(v) @ 9 ¥ i@ ¥
(a) WST wE&T 29 ¥ 34 O Sifaeg AU UBIK &b A Bl b U &,
3 YAl & SaX 30 ¥ 50 g ¥ fouw W =nfew)
(b) WsT HEAT 35 € 41 9% @Y ST UBR &b dAM—dM bl & T B |
3T YAl % STX 50 ¥ 80 g ¥ faw WM =nfew)
(c) 99T T&m 42 TE 43 9 ITNT WhK &b WUA—uid Sfbl b UL T
3T Usl % SaY 80 ¥ 120 g # fRu WM =if¥uw)
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SECTION - A
gug — A

1  Write general form of equation for the reaction of bases with non-metal 1
oxides.
(A) Base + Non-metal oxide — Salt + Water
(B) Base + Non-metal oxide — Salt + Acid
(C) Base + Non-metal oxide — FElement + Water
(D) Base + Non-metal oxide — Salt + Metal oxide
i STTFTEEl &l &R & HY AMGHAT Bl qH &Y § G0l fdfay |
(A) &R + raifa® SfidEREs — @q9qu + od
(B) & + oruifcash SliddEs — QU + o7
(C) &R + eraifae SedEe — dd + od
(D) &R + ruifae Sfiedgs — TIU + o1g STedgs

2 The image formed by a convex lens between focus and twice the focus is 1

observed to be real, inverted and diminished than the object. Where should be
the position of the object?

(A) At 2F (B) Beyond 2F
(C) Between F and optical centre (D) Between F and 2F

fondl SO0 ©d B0 Bi6E iR Wied & AT & S ST T e s aredie,
Sael ok fda @ wier urn ) e & Rafy wet e afeg ?

(A) 2F X (B) 2F & W
(C) F &R yaifdtes &= & 9 (D) F &R 2F & 99

3 Three resistors of 1Q, 2Q and 3Q are connected in parallel. The combined 1
resistance of the three resistors will be :
(A) less than 1Q (B) between 1Q and 3Q

(C) greater than 3Q (D) equal to 2Q

1Q, 2Q &R 3Q & A9 yiadiges qrehd ¥ daiia 81 @l wiaiee! o gy
g gRm:

(A) 1Q ¥ &9 B) 1Q 3R 3Q & 9

(C) 3Q ¥ a1fusm (D) 2Q & T
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4  The pancreatic juice does not contain the enzyme - 1

(A) Trypsin (B) Amylase
(C) Lipase (D) Pepsin
sl @ o e dSigd el e —
(A) fefta (B) THTEeH
(C) wrguE (D) ufte=
5 A green layer over old copper coin is generally due to 1

(A) reduction leading to formation of copper oxide.

(B) oxidation leading to formation of copper sulphate.

(C) oxidation leading to formation of basic copper carbonate.
(D) oxidation leading to formation of copper.

dle & QW THes 9X B T B I g 9 @R 9 B S, 98§ -
(A) ovaad, Ed BT SAladEs ST 6|

(B) Suaae, [Ed HUX Gehe I9dT 8|

(C) Iu=ad, Rad arlid HaX wEHe a9a1 |

(D) Suaae, REg HU 9T 8

6  Which of the following are the parts of neurons? 1
(A) brain, spinal cord and vertebral column
(B) dendrite, axon and cell body
(C) sensory and motor nerve cells
(D) sympathetic and parasympathetic nervous systems
frfafad & & &I =JAF b 9T g 7
(A) ARAwH, AHLS ST #edS
(B) =rge, THEH SR ifireb—brg
(C) G iR e it afirnd
(D) geddl T Wgedl dfenr O

7  Fertilisation usually takes place in a female reproductive system in 1
(A) Ovary (B) Uterus
(C) Vagina (D) Fallopian tube
QT o9 o § Sy el ® -
(A) sfegE o (B) wie ®
(C) aifw o (D) walEd =9 4
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8  Which of the following group of animals is a primary consumer in a biotic 1

community?
(A) Carnivore (B) Scavenger
(C) Omnivore (D) Herbivore
fordl Sifees dema # Frefafad o 9 Sigetl &1 -9 99 U WAHe STHRT § ¢
(A) wfEmErd (B) Her@r
(C) waierd (D) smerErl
9  Which of the following does not belong to the same homologous series? 1
frfafad & 9 @9 T & g9oaE 9o § defad 1o g 7
(A) CH, (B) C,Hg
(C) C,Hg (D) C;Hg
10 The wavelength of a sodium light is 589 nm. It is the same as 1
T yarr & aEeEdr 589 nm ¥ wE ffafed & & wum ¥ -
(A) 5.89 x 10° m (B) 5.89 x 1077 m
(C) 5.89 x 109 m (D) 5.89 x 1012 m
11  What will be the pH of a solution in which the concentration of hydrogen 1

ions is 1.0 x 10~ mol L1?

39 faeas & pH Fa1 Erl faer ssgie oA digar 1.0 x 1072 mol L1 &7

(A) 1.0 x 107 B) -9
© -8 (D) 9
12 Balanced forces: 1

(A) do not change the state of rest or motion of an object.
(B) can only pull an object.

(C) cannot deform an object.

(D) act in the direction of motion of an object.

gfed 9d —

(A) =% @ farmaeen an ifa & ufads & #arl

(B) %@ a%g @ @id bl ¢ |

(C) % &I BN &l S Hehal & |

(D) o @ T Bl feem § BRI HT 2
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13

14

15

16

17

Which one of the following is the correct electronic configuration of potassium? 1

fr=foafaa & 9§ @ Weig &1 98 ol ie [aad § 7

A) 28,18 (B) 2.2.8.8
(C) 2881 (D) 2.8.8.7
The derived SI unit of stress is : 1

9 & Fa= Sl T T -
(A) kg ms2 (B) kg m!s?2
(C) kg m?s2 (D) kg m?s3

Work done by a force will be maximum if on applying the force on a body 1
(A) the body remains at rest.

(B) the force displaces the body at an angle of 30° with the direction of force.

(C) the body is displaced in the direction of force.

(D) the body is displaced in a direction opposite to the force applied.

I g o wn s etfyead gRm aft avg WX 99 uged # U -
(A) a%g fermmerer & € & B

(B) @, a%] & 9@ &I fa9m ¥ 30° Hror ux fereenfuq w¥ar 2|

(C) o%g, 9@ i faem & fawanfuq & ol 2|

(D) o5, 9ge S & fqudia foen # ferenfia 21 Sar 1

What is earthquake? 1
(A) Heavy rainfall (B) Oceanic tide

(C) Sudden shaking of earth’s crust (D) Volcanic eruption

Iy T T 7

(A) ot (B) € W=

(C) i @ 99T &1 s/ams o A (D) SaTam@l & B

What is the weight of an object of mass 20 kg? (Given g = 9.8 m s2). 1
g 20 kg @ a%] &1 WX fhawr gm? (Ram & g = 9.8 m s72)

(A) 196 kg (B) 19.6 kg

(C) 196 N (D) 1.96 N
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18 Write TRUE(T) for correct statement and FALSE(F) for incorrect statement : ~ 1+1
(a) Double bond is formed when two similar atoms share two pairs of electrons
between them.
(b) The covalent compounds conduct electricity and are called good conductors
of electricity.

T ®e & T g (T) &R Tad &9+ & fou e (F) fafaa:

(a) UH [5—€Y q9 9d1 § &9 & GHM UHY] U S sdql & &l JHl Bl
AT Y &

(b) WA A GET 1 T Bid & iR foga & gae Hedrd & |

19 Read the following passage and answer the questions (1) and (2) that 1x2
follow it:

The brain, a very delicate organ is well protected within the bony cranium
(brain box). It is further protected by three meninges (that is, membranous
coverings) which continue backward over the spinal cord. These meninges are:
(i) Dura mater, the outermost tough fibrous membrane, (ii) Arachnoid, the thin
delicate middle layer giving a web-like cushion, and (iii) Pia mater, the innermost
highly vascular membrane, richly supplied with blood. The space between the
covering membranes is filled with a watery fluid known as cerebrospinal fluid
which acts like a cushion to protect the brain from shocks.

1
(1) Name two meninges which protect the brain. E+E
(2) The brain is encased within the . 1
(a) Cranium (b) Brainstem
(c) Nerves (d) Meninges

I femn o afvese ufed o frefafaa weat (1) wd (2) & IoX AR -
AR™h, Th HA ST, WS &% HIax 7al YR gUHd idr 21 98 g dF aiied
(FAeirgeT amaReT) BRT gRfd giar & o fop 9 H%¥eg] dd ol & | F aif-ed § —
(i) SRR — JRIAY BB YRR e (i) siiwHise — Idal, Bid 9eq9 g8 ol
T STAGAT Tl UaM Bl & | (iii) TR — ofidie, sifadand el ad 9wy
T HOR Tar 21 omaRy fafeat & 9 & e U 9ey g9 ¥ Wl g © e
AR WS XA HEd & | T§ ARAD DI FH o T & [T Teb el bl A& B Bl
gl

(1) @ arfreerent & M AfTT ST wRass @ GRam Hr & |

(2) =Raws, % fid¥ g B
(a) U (b) =R a
(c) dif3rebrd (d) i
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20 Read the passage and give answer to questions (i) and (ii) that follow it:
For fusion of their nuclei, pollen and ovule are brought together by several
agencies like the wind, water, and insects. This transfer of pollen grain from
anther to the stigma of a flower is called pollination. Self-pollination takes
place when pollen of a flower falls on its own stigma and fertilizes the ovule.
In Cross pollination pollen from one flower falls on the stigma of another
flower of a different plant of the same species and then fertilizes the ovule of

that flower.

(1) The transfer of pollen from anther to stigma is called
(a) Diffusion (b) Adoption
(c) Fertilization (d) Pollination

(i) Name two types of pollination.
T fean o ufese ufed ofk ffafaa weat (i) Td (i) & ST R
HEbl % WA 5 TIHU TAT 3 3T HHI o9 g, Td Td HIE EN Th L
% U WY ST & | IXTeIY § eheent IRl T IS o afciehld UX Ug e bl qIrT
HEA & | WA : TG T B % TIEIHU I8! | b iR U Ugdd & T 370
& fufad w3 € d 98 WRETT Sar €1 UXORET ¥ U Gl b YTl STUH &Y
wislis & qEX 919 & BA & aiel I Ugad & S 36 Bd & oS &l ufad
&
(i) WEHY ¥ afdel dh TINHY & LA Heddl & —

(a) fa@xo (b) T

(c) == (d) T
(ii) UIETOT & & BRI & 9 faRau

21 Match the variation in metallic character as per the change specified in
Column-I with the correct option of Column-II.

Column 1 Column II
(a) In a Period (From left to (P) decreases
right)
(b) In a Group (From top to (Q) increases
bottom) (R) remains same

(S) wvariation is uncertain

e T & UREd o e 1 ¥ R Y, o) w1l % 98 e ¥ gk

HITT:
|y 1 wy 11
(a) ofmad ¥ (@ ¥ 3F) (P) = T ¥
(b) & # (S & ) (Q) g S &l
(R) &1 & T&am 8|

(S) uftads erfwfyaa #1

1x2
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22

23

24

25

Write TRUE (T) for correct statement and FALSE (F) for incorrect statement:

(a) Metals show electropositive character whereas non-metals show
electronegative character.

(b) Sulphurous acid is called the king of chemicals.

T8 U & e g (T) 8 Tad wo+ & fow sraq (F) fafau:

(a) 9 faea o9 O wTafe stargd faga Fonee O g 2|

(b) TR A DI (AT BT ST HET Sl 2|

Fill in the blanks :

(a) Carbon cycle is the cycle by which carbon is exchanged
between , water and atmosphere (air) of the earth.

(b) Dead plants and animals return nitrogen to the soil as compounds.

e @Mt & gfd i

(a) BETTH, TH = Thsf@d wEIH A R g &
argvea ¥ fafma g 2

(b) Fa WY iR g, IRl &% & 9 SIS Bl GaT § 99 @R 8 |

Write True (T) for correct statement and FALSE (F) for incorrect statement:

(a) Forest fires are caused by heat generated in the litter and other biomass
in rainy season.

(b) Landslides are a major hazard in most mountains and hilly regions as
well as in steep river banks and coastlines.

T8 U & T g (T) o Tad w+ & fow sraq (F) fafau:

(a) o &AM, aui b HEd ¥ F$ Ud o Aaged ¥ SO HHT b BRI O ¢ |

(b) qrawH Sifueisr TaTs! 3R e &= 8fX T & el ol ofik qer st
@ TH I G |

Read the following passage and answer questions (i) and (ii) that follow it:

If the net external force acting on a body is zero, the body at rest continues

to remain at rest and the body in motion continues to move with a uniform

velocity. This property of the body is called intertia. Inertia means ‘resistance

to change’.

(1) Name the quantity which causes the motion of a body initially at rest ?

(i1)) While sitting in a moving bus, why do you experience a jerk when the
bus suddenly stops?

e e wan uiese uied ot freafaiaa et (i) wd (ii) & 3T A

afs el aeg T B BT @ P Q) 99 O F, o a%g S feemmaen ¥ ¥, @@

formreren & €1 WA T 8RS axg il ® 9% UHenH O ¥ U § & @ T

IE % W O B TS Hed & | T b Y & — qiEad & ghy’ |

(i) 9 9= &1 9M fafay < foret avg &1 emifyes femmaren & wifasha a9l 81

(i) fepdl wifaslied 99 9 93 §T, 99 99 S &bl ¢ a9 39 T Gkl a1 =l
HEqd B & 7

2
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26 Match column I statement with the correct option of column II.

Column I Column 11
(a) 10 kWh (P) 3.6 x 108
(b) 9.8 N (Q) 98 kg wt
(R) 746 ]
(S) 1 kg wt
WA [ % ®aF & @W [ & 98l faweq ¥ gafaa s
wa 1 w11
(a) 10 kWh (P) 3.6 x 108 ]
(b) 98N (Q) 98 kg wt
(R) 7461
(S) 1 kg 9

27 Complete the following sentence by options given in the bracket :
(first, protons, atom, electrons, valence)

(a) Helium has two in its atom. These will occupy the
shell.

(b) The number of electrons determines the combining capacity
of an of an element.

Prfafad amet &t @ied ¥ R T et & qor B
(9o, WM, URAI, A, )

(a) ferad & T § A k| By ® o g
(b) fordll a@ o %! GAIe v Bl ToaHl G
freifa s B

28 Read the given passage and answer the questions that follow it:
Work done by a force acting on an object is equal to the magnitude of the force
multiplied by the distance moved in the direction of the force. Work has only
magnitude and no direction. If force F = 1 N and the distance moved in the
direction of the force, s = 1 m then the work done by the force will be 1 Nm.
(a) How much work is done on a 100 N stone that you carry horizontally
across a 10 m road?

(A) 1000 J (B) 1001
(C) 0 (D) 10 N m!
(b) Work done in a system is the measure of -
(A) force (B) useful work
(C) displacement (D) energy change

1+1

1 1
4=
2 2

1x§
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(c) How much work is done on a 100 N stone when you lift it by 1 m?
(A) 100017 (B) 10017
<) 0 (D) 100 kg
(d) A force of 80 N acts on a body of mass 4 kg. What is the amount of work
done if the total distance moved by the body is 2 m and is in the direction
of the force applied?
(A) 160 1] (B) 401
(C) 160 N m! (D) 8017
(e) In which of the following situations work is done?
(A) A person is climbing up a staircase.
(B) A satellite revolving around the earth in a circular orbit.
(C) Two teams play a tug of war and both pull with equal force.
(D) A person is standing with a heavy load on his head.
T feun e aiese ufed ok frefafad weal & Sax <R
fondl a%g T @ W S &I foRar T B, g7 & UiCAT ofiX 9 @l faem # 7 @
TS g % IO b IUER T B BN had aRwmor grar § ofiR feam 72 gan af s@
F=INzeiRg@ & Ry A dg & T g0, s = 1 m ¥, 99 §a &7 fopar 7w &
1 Nm rm|
(a) T 3T wh 100 N % T &l T 10 m Ol TS & UK o W8 ol Je¥ T

fopam o & fepaeT BT Y
(A) 1000 J (B) 100 ]
(C) 0 (D) 10 N m™!
(b) Tt T & fpar mon &, AT ¥ -
(A) s & (B) SUar & &1
(C) faramas &1 (D) =il uftads @t
(c) Tdr 100 N ek uX femar Tam & fehaem &0 afE o9 S8 1 m & a8 dab
IO & 7
(A) 1000 J (B) 100 7]
(C) 0 (D) 100 kg

(d) F=AE 4 kg @ el a&g T 80 N & 9d &1 &l ¢ | Al a%g X O Bl
TS A U 2 m $ 3 Uge g &l faen # 8, A fohd T Bkt A R BRi 7
(A) 1607 (B) 4017
(C) 160 N m! (D) 807J

(e) 1 o aF-w ufiRufaat & @rd wrurfea gom &7
(A) Us Sl Gifeal 96 @l ol
(B) ¥amze Yol % AR SR § b Hel # goiF BT W@ F|
(C) 3 3M sl Wd T § o 3! 3 JUaX g @ @ g
(D) s =R o faR o ATl s At e B
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SECTION - B
gog — q

29 In a lens of focal length 10 cm, the sizes of the image and object are equal. 2

Name the type of lens and mention the distance of object from the lens.

wiend T 10 cm & R oE o, UidieT iR &9 &1 o saX & 1 @9 & T &
T4 fafau ok @| ¥ g & O &1 Iwg DIl

OR / sy
Define (i) visual angle and (ii) power of accommodation

RISt BT ¢ (i) 39T BT SR (i) FHEA &

30 Write two main achievements of Mendeleev’s periodic table. 2

HEA® Dl ST I &I a1 J&d Suaredi faray |

31 What will happen if a copper wire is dipped in AgNO; solution? Explain 2
the observation giving relevant chemical reaction.
1 B Al et i % A bl AgNO; faeras & g g ? YaroT o et qrEis
AT STHIRAT JhT BT |
OR / 3@t

Nitrogen forms a series of oxides with oxygen. Write the names of any four
oxides.

AEZISH, ST % GTY STFITSS! Bl Teh U ST & | fohel A SATeaTZS! & A
fafaa

32 (a) What was confirmed by Sutton in 1902, while working with grasshopper 2
chromosomes?
(b) Give the synonym for Mendelian factor.

(a) feg & Torgsl & WY &M wXd Y 1902 ® de « o g &1 i ?
(b) Hed & BB & foU TaFamEl g fafag|

33 Write the names of two strong acids. 2
3 USd ol % A fafag |
OR / 3y
Write two differences between an electron and a neutron.

T TagH S TE g & 99 91 ofx fafaw)
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34

35

36

37

38
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What is meant by isomers ? Draw diagrams showing the isomers of butane.

qHETE! B F1 Y 7 P A % GHeEd i §T AT SIRd |

49
Calculate the number of electrons, protons and neutrons in 9K and 18A1r.

fzKaﬁngmﬁsﬁaﬁﬁ,uﬁzﬁaﬁT?{{ﬁﬁﬁwaﬁaﬁﬁm
OR / g

Describe Thomson’s model of atom. Draw a diagram of helium atom

according to this model.
U] & TGS Hisd & faigd avie BTl 39 Hied & STIER I UTE] &
ICERCEIER]

Write three important characteristics of transition elements.

THA Tl & AN gl UIEH fafag|

How much momentum will a dumb-bell of mass 10 kg transfer to the floor

if it falls from a height of 80 cm ? Take its downward acceleration to be
10 m s 2.
oA 10 kg &1 Ush SW—d &I €Tl 9T foha 1 W WHiaid s aic 98 80 cm
B Fars ¥ ARar 31 396 STENT @R B 10 m s o |

OR / 3t
What is the magnitude of the gravitational force between the earth and a 4 kg
object on its surface ? (Mass of the earth is 6 x 1024 kg and radius of the earth
is 6.4 x 10° m)
gl 3R IHaT gas WX W@l 4 kg o fret a%g & S ey S S gfATT Fa
T? (U &1 F=EE 6 x 1024 kg ¥ ofR uxd @ B 6.4 x 106 m ®)

Define the terms (i) adolescence (ii) puberty and (iii) menarche
= 9=t @1 afam St
(i) femstrrazen (i) JaAry (iii) wam e
OR / 3@t
Define the terms (i) Oviparous (ii) Viviparous and (iii) Hermaphrodite.
Give one example of each.
e wel @t afamn @t
(i) sveyes (i) Teiausie (i) IHafd



39 Name two sub divisions of peripheral nervous system. Write their roles also. 3

aftedi dfEeer o & &1 WEN & AW faiay ) 3Tt & i fafeg)

40 What is meant by population growth ? State the factors on which population 3
growth depends.
SEE ghe B T Y B I B B F DI T 9 SEen ghg fe
XIS

41 What does ‘Global warming’ mean ? Write any two effects of global 3
warming.

Ity HHT BT HT Fd T 7 g THA & B a1 T9E @RI

42 (a) In your house one light bulb is fused but all the rest are working.  2+3=5

(b) In your sister’s doll’s house one light bulb is fused and all the rest are
also not working.

In case of the above situations, decide how are the light bulbs connected
(in series or in parallel) ?

(c) Draw a labelled diagram of an electric bell.
(a) o9k °X H UBIYT BT Uk Sod TS & AT & fehg STb! §E HMH BT ® B
(b) 3TUHT T& B A & T H YHIY BT U §ed TSI & T § iR e 99
f B T X w | SuTE Il Rafaat o ffyaa Hifsg 6 g & s
forg g deifea § (SO § a1 ungdeRd #) ?
(c) UH faea =1 & AMifed o s=mEd|
OR / 3ty

1 1
(a) When white light is refracted by a prism E+E+2+1+1=5

(i)  Which colour is deviated the most?
(i) Which colour is deviated the least?

(iii) Draw a labelled diagram to show the colours of white light obtained
in the spectrum.

(iv) Write a natural phenomenon of dispersion of light.
(b) Write the nature of the image formed by concave lens.

(a) 9 o9 ¥ 93T UBIYT BT ST BT & —
(i) w9 atfuw frg 1 @1 faaes g &7
(ii) we9 &9 fopg 1 @1 foaem ean & 7
(ili) 99T T | T WagH o TN &l 39N 2 U AMifha Ao a9 |
(iv) WenteT o UREIu &I T Ui divaen fafag|
(b) oEaw wa g Mg ufafds & yeia fafag)
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43  Write chemical formula for washing soda. How is it manufactured? 1+1+2+1

Give two uses of washing soda.
IR |1 1 TEETe g3 ey | 3Het SR f6d Y fham Sirar & ? anfai aret
% & AN AR |
OR / 3@t
What is meant by (i) ionic bond and (ii) covalent bond? Compare ionic  1+1+3

and covalent compounds on the following properties : physical state, electrical
conductivity and solubility.

(i) emafie eee ofiX (ii) HeaaSi SEe & 9T ofd & ? 3T+ i Geadrsi srae
@ gaaT Frefataa o § se — Hifge e, e e ok faeadn
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